— ERANVRI U

TGRS0 15A-1504 15A-150A 154-100A

ot

N

EEEENE ootz

NICHIE/
INTEC

— 25 VHERBNYRI T

MBE - BiF
BEGE 1 SGP(VPA0A~VPI00ADHATEETY)
W SR (M I )

W 250ALL HIGFiREEFUET .

J—FNo. EiEfF BESEEEA)  txB d #@fdRLhres € H  AS(IExE)
015 | 15A 217 [ 1.2x25[3/8 | M6x20 | 24 | 76 | 250(10x25)
020 | 20A | 272 [1.2x253/8| M6éx20 | 24 | 78 | 200(10x20)
025 | 25A 340 [ 1.2x25[3/8 | M6x20 | 24 | 81 | 250(10x25)
032 | 32A 427 | 20x253/8| Mex25 | 24 | 85 | 180(10x18)
040 | 40A 486 | 2.0x25 3/8| M6x25 | 24 | 91 | 150(10x15)
050 | 50A 605 | 2.0x253/8| M6x25 | 24 | 96 | 130(10x13)
__065 | 65A | 763 120x32|3/8] MEBx25 | 26 | 104 | 90(10x9)
080 | 80A 89.1 | 2.0x32|3/8| M8x25 | 26 [110| 80(10x8)
100 | 100A | 1143 [20x32 | 3/8  M8x25 | 26 | 123 | 60(10x6)
125 | 125A | 1398 |3.0x32|1/2| MI10x35 | 30 | 155 40
150 | 150A | 1652 |3.0x321/2| MI10x35 | 30 | 167 30
200 | 200A | 2163 [3.0x50 [ 1/2 | M12x35 | 47 | 218 20
250 | 250A | 267.4 | 4.5%x50 | 5/8 | M12x45 | 55 | 245 12
300 | 300A | 3185 | 45x50|5/8| mi2x45 | 55 [ 271 8

154-1504  15A-1504

B0 N-010117

w 27 VHERNBNYRI /NG BILT

MBR- AR
WESE | 27 VUASE (FH)/VPA0A~VPI00ALHETEET,
B SGPICHHAITEFT (BRMILLENHETT)

257V RB(SUS304)
B 250AL ERFARRERUET,

J—KNo. EEin BESEEEA)  txB d @Rk vb C H  AB(Lexy)
015 15A 21.7 1.5%25 | 3/8 MEx25 24 | 72 350
020 20A AT 1.5%25 | 3/8 ] MEX25 200TS 250
025 25A 34.0 1.5%25 | 3/8 MEX25 24 | 78 250
032 32A 42,7 1.5%25 | 3/8 ] MEX25 24 | 84 250
040 40A 48.6 1.5%25 | 3/8 MEX25 24 | 84 200
050 50A 60.5 1.5%25 | 3/8 ] MEX25 24 | 93 200
065 65A 76.3 2.0x32 | 3/8 MBx25 32 | 104 90
080 80A 89.1 2.0x32 | 3/8 ] MBX25 32 | 113 80
100 100A 114.3 2.0x32 | 3/8 MBx25 32 1123 60
125 125A 139.8 2.5%38 | 1/2 ] M10x30 35 | 161 40
150 150A 165.2 3.0x50 | 1/2 M12%35 40 (180 30
200 200A 216.3 3.0x50 | 1/2 ] M12%35 47 | 213 20
250 250A 267.4 3.0x50 | 5/8 M12%35 55 | 261 12
300 300A 3185 3.0xX50 | 5/8 1 M12%35 55 | 291 8

IBAISA 1541504 15A-100A

Q26 | N-010122

MR- AR
REAE | 27 VUAME (F6)/VPA0A~VP1S0ABHATEET.
W SGPICHHtAITE &Y (BRI ENENHETT)

w27 LASR(SUS304)

J—FNo. EEi ESEEEA) txB d #@Rikbrys C H  AZROE8xE)
015 15A 21:7 1.2%25 | 3/8 M6x20 24 | 74 | 300(10%30)
020 20A Gy 7] 1.2%25 | 3/8 | M6x20 24 | 77 | 250(10%25)
025 25A 34.0 1.2x25 | 3/8 M6x20 24 | 81 | 250(10%25)
032 32A 42.7 1.2x25 | 3/8 |  M6x20 24 | 84 | 250(10x25)
040 40A 48.6 1.2x25 | 3/8 MEX20 24 | 88 | 200(10%20)
050 50A 60.5 1.2x25 | 3/8 | M6X20 24 | 90 | 200(10%x20)
065 654 76.3 1.5%32 | 3/8 M8x25 30 | 109 | 130(10%13)
080 80A 89.1 1.5%32 | 3/8 | M8x25 30 | 108 | 100(10x10)
100 100A 114.3 1.5%x32 | 3/8 M8x25 30 | 124 | 100010x10)
125 125A 139.8 2.0x32 | 3/8 | M8x25 33 | 139 50
150 150A 165.2 2.0x32 | 3/8 MBx25 42 | 150 40

—
i
E
]
&2
&
%




